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QUESTION 1

Referring to the exhibit, traffic is being sent from user1 to server 1 .The traffic is being classified using IP presentence
into the default forwarding class expedited forwarding on R1 R2 and R4 .however R3 has no class service configuration.
What are two potential actions R3 will take on the traffic? (Choose two) 

A. the traffic is serviced by the best effort queue 

B. the traffic is serviced by the assured forwarding queue 

C. the traffic is serviced by the network control queue 

D. the traffic is serviced by the expedited forwarding queues 

Correct Answer: AC 

 

 

QUESTION 2

You have certainly implemented the configuration shown in the exhibit. After committing these changes, the community
devices connected to AS1 are not able to communicate with the appropriate community devices connected to AS2.
What must be done to allow these community devices to communicate? 

A. You must configure an isolation VLAN ID under the pvlan 200 on the AS 2 switch 

B. You must configure the ge 0/0/10 interface as AS1 as the pvlan trunk 

C. You must configure an isolation VLAN ID under the pvlan 200 on both the switches 

D. You must configure the ge 0/012 interface on both switches as pvlan trunks 

Correct Answer: D 

 

 

QUESTION 3
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-- Exhibit -

-- Exhibit -Click the Exhibit button. 

Referring to the exhibit, you must ensure that traffic to the 2001:10:5::/64 network leaves AS 2 through R3. 

Given that all BGP attributes are at their default, how would you accomplish this task? 

A. On R1, configure a MED of 50 for the 2001:10:5::/64 route. 

B. On R2, configure a MED of 50 for the 2001:10:5::/64 route. 

C. On R3, configure a MED of 50 for the 2001:10:5::/64 route. 

D. On R4, configure a MED of 50 for the 2001:10:5::/64 route. 

Correct Answer: B 

 

QUESTION 4

You are asked to configure a CoS weighted tail drop profile on your EX Series switch that causes all traffic in the best
effort queue to drop when the queue is 90 percent full. 

Which configuration will accomplish this request? 

A. [edit class-of-service] drop-profiles { be_dropp { fill-level 90; drop-probability 100; } } 

B. [edit class-of-service] drop-profiles { be_dropp { interpolate { fill-level 90; drop-probability 100; } } } 
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C. [edit class-of-service] drop-profiles { be_dropp { fill-level 90; } } 

D. [edit class-of-service] drop-profiles { be_dropp { fill-level 90; drop-probability 90; } } 

Correct Answer: C 

 

QUESTION 5

-- Exhibit -- Exhibit -

Latest JN0-643 Dumps | JN0-643 Practice Test | JN0-643 Braindumps                                4 / 6

https://www.passapply.com/jn0-643.html
https://www.passapply.com/jn0-643.html
https://www.passapply.com/jn0-643.html


https://www.passapply.com/jn0-643.html
2024 Latest passapply JN0-643 PDF and VCE dumps Download

Click the Exhibit button. 
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Referring to the exhibit, which answer is correct? 

A. R2 is the DR and R1 is the BDR. 

B. R4 is the DR and R2 is the BDR. 

C. R2 is the DR and R3 is the BDR. 

D. R3 is the DR and R2 is the BDR. 

Correct Answer: C 
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